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1. Peafafld s@er & @ @ e
geAarae Teg (?) S Ifaeariad Heaf?
39, 121, 245, 739, 1481, ?

A. 4447 B. 2025

C. 5480 D. 4120

Ans. A

Sol.

Logic is-

18+2+3=39

39%3+4=121

121%2+3=245

245%3+4=739

739%2+3=1481

1481+3+4=4447

Hence, the correct answer is option A.

2. 3eRY & 37 AT & 99T Y, T U
T Rl W HAS T & @I ST Tl
abba_babb_bbab_abba_ba_b

A. aaabb B. babaa
C. baaab D. babbb
Ans. D

Sol.

Logic- abbabb is repeated 4 times.
abbabb/abbabb/abbabb/abbabb
Hence, the correct answer is option D.

3. GANHR TS o Teh Tohs T HISe T e
3R {59 9R AS 3T FHETST S FHIeT AT
& @ 3Pia X, Y 3R Z 7 garar = gl
HTITST Wt Y W har R@rs gam?
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¢ D ¢9
A. (B ﬁ) B. @ E)
© 0 ¢ 9
C (I-] FD D. (ﬁ E)
Ans. D
Sol.

As it is punched in a book-folding manner
and then again it gets punched. So, when
we open it up there will be figure as
shown in option (D).

¢ 9
G d

Hence, option (D) is correct.

4. 37 qhed HT IO ™ foFd = Ru
T FEAT U & FAT GY g

(25, 65, 169)
A. (15, 75, 247)
C. (18, 39, 120)
Ans. B

Sol.

As, 25x13/5=65
65+13/5=169
Similarly, 75%13/5=195

195%13/5=507

Hence, the correct answer is option B.

B. (75, 195, 507)
D. (55, 105, 235)

5. dTfehe 3R T1deh o & fAeafaf@d esal
T ST F T F F AT TE Ao
FT TAT |

1) ATSHIAT

2) &I e

3) SRS aEr

4) AT T
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5) TFg-Y

6) TafSteer omse ¥

7) AT X

A .4 1,5 6,2 3,7

B.4,1,3,6,2, 5 7
C.7,1,3,6,2,5, 4

D. 4 2,3,6,1,5,7

Ans. B

Sol.

Correct order of electromagnetic waves
from lowest to highest frequency is-
Radio Waves

Microwaves

Infrared Waves

Visible Light Rays

Ultraviolet Waves

X- Rays

Gamma Rays

Correct order is : 4, 1, 3, 6, 2, 5, 7.
Hence, option B is the correct response.

Nabdbd o w2 oh

6. faegad wrr & A F A @
farafaf@a & @ forg FHHIoT garT cged

fRar ST 872

A. Q=IT B. P=IV

C. R=l/A D. V=IR

Ans. D

Sol.

- Tirege &IRT # 317 7 Foverer Favaiery, Oy
3R gy & gfaRiy & &g @Y & g2rar

g 3R 38 V=IR & &9 & =ued Far S
gl

o TH Fgar § & Ife Ireie F & R &
7 RAraraR 1 diee § 31K 398 gt 98
grell 9T 1 TR 3R drele &1 gfakiey 1
3 gl
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7. ThE dT9AT & 318 dT9ATT W g
Terd 3]-geerd gy # aRafdd g S
2?2

A. g A9AH B. UsH dM&AA
C. Hifde aTdHTeT D. ¥ araHTH
Ans. A

Sol.

* FGY A9A 8 3UF AUAT R Gahr
9Ty, Je]-gaehrd ward # aRafda g S
gl

forel gerel & 31iaRes ek a1 feer sger
odr gl

* YT &1 o HUTEU Blel TR ITIThT
verd, A-Feh g § 3R U g1 W
g g1 &

8. ‘Fler &y U I TAENT vad &1 ATH

g7

A. #HRT B. hedm
C. 37l D. &FeTar
Ans. C

Sol.

o Siisr 3eféar & & gar g

* ¥ USIS Udd H@ell & YAl gellel 9 elcll
gl

* Ig Teh Yo gaT ¢ 3R 120 freieiex uic
ge i afd a& & T Bl

« 3 o AT T 8 A A T 35
¥ gaTl e & THY U WA R Toicl &
* 3T gar & Gier off her Sirar Bl

9. fFE TadFdr V=TT HF HRT Icd UGl
a6t fapam amam g7

A. TAdreT s

B. SIdTEX ol og®

C. Wl 3fegel TFHR Wlel

D. 3Rfsqr g%

Ans. D
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Sol.

o o1 3RTSET O HRA IcT F TedhdT 18T
gl

* FATET oTel AEE I TS & Aolliaeh &IF
#H 3T ANTGIT & T 1955 H #ARA ool
T gFATAa fomar arar |

o fQaAteT oTd Fr 1983 H HRT IA I
grAfad fhar s@r o1l 98 Ud 3o
FaAAdl Al T AR A WA HE
3erere & fav 8 g Sa

* WleT gl AFHR Wil T 1987 H HRA
T @ gEafad Far I=—r o1 98 TS
TIAAAT @A 3R g Aar ¥ IR A
HEICAT e o 3eTard off 3|

10. ARG HAYU & AT # F Sla-ar
T Togurel Agidd & Heftrd g2

A. 3Tese 155 B. 3i7ede 153
C. 3fcic 168 D. 3 157
Ans. A

Sol.

o 3eTeSE 152-162 ToAUTel @ HEfAT &
o 3T 153 Fge § o 'Icdsh T3 & fow
Teh AgqTel G|

o TEBE 155 ToqdTe T fAGfFd & FaferaT
¥ 3R wgar ¥ & TS & TS A
TSeyTe GaRT 3Hh §TY 3R HEY o g ke
¢arT fAged forar Srea|

11. Ife cosec 26=sec (36-15°) &, ar 0
Fefaf@d & O Fgs SeT gem?

A. 22° B. 25°
C. 21° D. 20°
Ans. C

Sol.

We know, cosect = sec(90°-6)

So, we can write cosec26 =sec (90°-26)
According to question,

sec (90°-26) = sec (36-15°)

o
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comparing both sides, 90°-26= 36-15°
6 =21°

12. af% (5a-3b) : (4a-2b)=2:3 ¥, ar ab

frfafad & ¥ Read ST @em?
A.3:4 B.5:7
C.2:3 D.5:8
Ans. B
Sol.

(5a-3b) _ 2

Given is, #a-2b 3
On solving , 15a-9b = 8a-4b
7a = 5b

a 5
b 7

We have,
Required a:b = 5:7

13. &Y 1$ 3y 7 PQR Toh FHRIOT Fagat
¢ foras £P=90° &, PCAB U @, foragsd
QA = 5 érileT 3R QR = 9 WX &l
33T PQR &7 &1Fthel 3T |

P

Q R
A

A 30 TEHRT
5. 44.45 YEHATT
c. 56.22 HEHRT
D. 70 HEFHRET

Ans. B
Sol.
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20OBA ~2OPR
04 4B
OR PR

&~ ACR ~20PR

From(1) & (2)

o4 _0P 5
OR PR 4

PO’ + PR* = QR’
(5k) +(4k)* =81

=3
41

~POR :%xS:’erk:

45 81

45%*

“

=22 % 2o = 4445
241

“

14. gHROT

si v
]_ «

l+cosr  siny
_|_ —_—

l+cow

sim 1-cos T AT

fF T # ¥ fhas SeT gem?

A0
C. cosy

B. siny
D. 1

P
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Ans. C
Sol.
The expression can be written as

l+cosv—sin® v (l—cos™ v)—sm”y

1+cosv sin y(1—cos v)

~cosyv(l+cosy)

+0=cosy
l+cosy

15. 595 & 68% - 372 & 43% hT TLITHIOT

H|
A. 244.64 B. 232.84
C. 278.44 D. 398 & HIS =Igf
Ans. A
Sol.
595% ﬁ—37’2* 43,
100 100
=404.6—-159.96
=244.64
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